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WORKBOOK ANSWERS

 AQA AS Law Unit 1

 Law Making and the Legal System

This Answers book provides some possible answers that might be given for the questions asked in the workbook. They are not exhaustive and other answers may well be acceptable, but they are intended as a guide to give teachers and students feedback. The candidate responses for the longer essay-style questions are intended to give some idea about how the exam questions might be answered.
The examiner commentaries (underlined text) have been added to give you some sense of what is rewarded in the exam and which areas can be developed.

Section A Law making

Topic 1 Parliamentary law making

 The legislative process

1
d, b, f, c, e, g, a (7 marks)
2
(8 marks)
	Key word
	Description

	House of Commons
	One of the two Houses — its members are elected democratically

	Democracy
	When the elected government carries out actions on behalf of the electorate

	House of Lords
	Membership of this House is only by appointment or hereditary

	Crown
	This person is the head of state

	A bill
	A piece of draft legislation

	Public bill
	A bill that will affect everyone

	Government bill
	A bill introduced by the government

	Private members’ bill
	A bill introduced by an individual MP or by a peer in the House of Lords

	Private bill
	A bill that will affect an organisation or individual


3
A Green Paper is a discussion document. A White Paper is the government’s statement of intent.
(1 mark)
4
This is a public bill introduced into Parliament by a backbench MP in the commons or a peer in the House of Lords. Any Member of Parliament can put his/her name into a ballot. The speaker of the House draws out some names. These MPs/peers then have the opportunity to explain their idea to the rest of the House. (3 marks)
5
Possible examples include: the Abortion Act 1967 — introduced by David Steel MP; the Murder (Abolition of Death Penalty) Act 1965 — introduced by Sidney Silverman MP; the Wild Animals (Hunting with Dogs) Bill which became the Hunting Act 2004 — introduced by Ken Livingstone.
(4 marks)
6
(8 marks)
	Advantages
	Disadvantages

	Flexible
	Undemocratic — House of Lords and queen are not elected

	Democratic
	Government control — Parliament Acts

	Government in control
	Slow process

	The House of Lords — to double-check (further scrutiny — wealth of experience)
	Very dated — issues with language of draftsmen, and structure of Acts


7
a
The process is very long — the bill has to go through many stages in both Houses. This can take months to complete and if the House Lords suggests amendments then it keeps going backwards and forwards between the two Houses. It is not appropriate when important laws need to be bought into being quickly. (4 marks)
b
The process of parliamentary law making is undemocratic — although the members of the House of Commons have been elected into their positions, the House of Lords and the queen have not and this could be seen us undemocratic. MPs in the House of Commons are also more likely to vote for their party rather than for their constituency. (4 marks)
c
The process is slow — it is a long process through both Houses, followed by the need for royal assent, which is only a formality. This is not a good process when important laws need to be bought into being quickly or when laws need to be reformed quickly. A bill can take up to a year to become a law. (4 marks)
d
When drafting a bill the draftsmen often use words that are ambiguous, unclear and obscure — this could lead to the judiciary not being able to understand what has been written and they could interpret how they think it should read — as opposed to how it was meant to read. Language can be incomprehensible to the normal layperson. The Renton Committee identified many issues with the structure and drafting of Acts. (4 marks)
8
Possible reasons include:

· not enough detail when explaining each stage

· no information about Green/White papers

· different types of bill are not explained

· availability to backbench MPs to introduce private members’ bills is not mentioned (4 marks)

9
Expand the detail on each of the stages of the bill, saying when a vote is taken. Explain about different types of bills and give examples. Mention the Parliament Acts, saying how the House of Lords can never refuse a law, and give examples. (4 marks)
Parliamentary supremacy
10
(3 marks)
	Case
	What did it clarify?

	Costa v ENEL (1964)
	Both pre-existing domestic Acts and those made in the future must comply with EU law.

	Ex parte Factortame No. 2 (1991)
	Domestic courts must suspend domestic legislation while waiting for a ruling from the European Court of Justice — as to whether domestic law contravenes EU law.


	A and others v Secretary of State for the Home Department (2004)
	All domestic laws must comply with the Human Rights 
Act 1998.


 Influences on parliamentary law making

11
Parliament is made up of the House of Commons, the House of Lords and the queen.

The law-making process can be influenced by the Law Commission — this is an independent, permanent and full-time law reform body set up by the Law Commission Act 1965. 

Under s.3(1) of the 1965 Act the role of the Law Commission is to ‘Keep under review all the law’.

The Law Commission can suggest reforms to the government as well as repeal obsolete law and consolidate current law.

Pressure groups can range from a single person to several hundred thousand members, who may influence Parliament to legislate on an issue. They employ various methods to support their campaigns, including lobbying ministers and MPs, marches, petitions, demonstrations and publicity campaigns.

The media can highlight matters of concern to the public. The media may both represent public opinion and influence public opinion. As well as day-to-day news the media also campaign to reform laws. An example was the ‘name and shame’ campaign run by the News of the World in 2000 following the murder of a child by a paedophile. Another example is Sarah’s Law, which was introduced as a result of a campaign by the family and the Sun newspaper. (12 marks)
12
(12 marks)
	Influence
	What it is and some examples
	Advantages
	Disadvantages

	The Law Commission
	Independent body — influence by producing reports. Aim is to make government change laws (OAPA)
	Expertise, considerable research — well informed, independent, does not only focus on government’s wishes
	Many recommendations are not implemented. Lack of power, lengthy process

	Pressure groups
	Groups of individuals — may try to influence government through marches, lobbying, demonstrations etc. Sectional (NFU), Cause (RSPCA)
	Raise public awareness, e.g. Fathers for Justice. Membership — larger than political parties. Extensive knowledge, e.g. Jamie Oliver — expert on nutrition and food
	Biased, only promote one side of the issue, criminal behaviour, no contact with ministers — so unlikely to change the law

	Media and public opinion
	Media covers — newspapers, television, magazines, internet and radio. Public opinion can be through pressure groups or directly to MP
	Raise government's awareness, can campaign to reform law (e.g. Sarah’s Law), raise public awareness
	Radio and television are politically neutral, but newspapers are not — they promote their own views and want to make a profit. They can cause public panic — and make government act hastily, e.g. ‘name and shame campaign’ and the Dangerous Dogs Act 1991


Exam-style questions

01
Parliament’s power is unlimited. It can make laws on any topic and it can repeal any laws. The validity of laws cannot be questioned by anybody and no one parliament can limit the law-making power of any future parliament — so no parliament can bind a future parliament. However, there are limits on this doctrine, but these limits can be taken away by Parliament repealing the relevant legislation needed to get the full power back.

a
The effect of the European Union membership in 1973 and how this limits what laws the UK can introduce, e.g. Factortame No. 2 (1991), Costa v ENEL (1964), but Parliament can always pass a law to come out of Europe.

b
The effect of the Human Rights Act 1998 — showing how the 1998 Act, which came into force in October 2000, requires that all legislation passed by Parliament must comply with the HRA. A and others v Secretary of State for the Home Department (2004) ruled that all new and existing laws must comply — failure to do so results in the decision being quashed and the judiciary refusing to apply the law.

c
Devolution — Parliament has devolved certain powers to both the Scottish Parliament and the Welsh Assembly. Devolution is the statutory granting of certain powers from the Westminster Parliament to the parliaments of Scotland and Wales. This was following referendums in 1998. They can both make laws for their own countries — but the Westminster Parliament has the power to repeal the Acts. The Westminster Parliament has retained power to make laws regarding defence issues as this affects the whole country.

02
Before a bill is introduced there is a consultation process during which a Green Paper or White Paper is issued. A bill is then drafted and can be introduced into either House first. The bill can be a government bill or a private members’ bill that has been introduced by a backbench MP (e.g. Abortion Act). Bills are either public, meaning they will affect the whole country, or private, meaning they will affect a particular individual or organisation.

Each bill goes through a set process and must pass through both the House of Commons and the House of Lords before receiving royal assent. A bill can start in either House, with the exception of money bills, which must start in the House of Commons.

The first reading is where the main aims are read out — there is no debate, but a vote will be taken to hear more. The second reading is the main debate — led by the person who introduced the bill; there will be questions taken from the floor. A vote is then taken to see if the bill is to continue. The committee stage is where the bill is scrutinised by the standing committee, which is made up of between 20 and 50 MPs. Any amendments are then fed back to the House. The House of Lords does not have a standing committee, so its bill will be scrutinised by the whole House. The third reading is where a vote is taken and then the bill will go through the same stages in the next House.

Following the Parliament Acts 1911 and 1949, the House of Lords cannot refuse a bill but it can delay a bill for up to a year (e.g. Hunting Act 2004). The royal assent is now only a formality — the queen will never refuse a bill. On the day royal assent is granted, the bill becomes an Act of Parliament.
This answer is concise and not repetitive. It answers the question well, showing a clear understanding of the different roles. The answer will obtain high marks because it clearly explains the roles, expanding in each area by giving some good examples.

Topic 2 Delegated legislation
1
Ministers and government departments are given power to create laws on various areas that are connected to their department.
Laws made by government ministers and their departments are called statutory instruments.
The parent Act may require the statutory instrument to be laid before Parliament. This is the most used type of delegated legislation. (8 marks)
2
The Road Vehicles regulations 2003 (made it an offence to use a mobile phone while driving). The Motor Vehicles (wearing of seatbelts) regulations 2006 (provision for the wearing of seatbelts and other restraints by children and adults) was used to amend the Road Traffic Act 1988. (2 marks)
3
Affirmative resolution — statutory instruments will not become law unless approved by Parliament (must be passed by a vote). Negative resolution — the statutory instruments will become law unless rejected by Parliament within 40 days. The piece of draft legislation is put up on a noticeboard outside the House of Commons. (2 marks)
4
The resolution process allows for discussion/debate, requires approval by ministers, and gives Parliament the chance to reject the law. (2 marks)
5
a
 Lack of publicity, poor wording, language used. (2 marks)
b
It allows non-elected people to make law and limits Parliament’s control. (2 marks)
c
It can come into effect before it is published so people may not be aware the laws have been passed and could commit an offence without knowledge. (2 marks)
d
Trouble interpreting the law accurately; inappropriate prosecutions; wasted court time. (2 marks)
6
(7 marks)

	Control
	Parliamentary
	Judicial

	Procedural ultra vires
	
	(

	Affirmative resolution
	(
	

	Enabling Act
	(
	

	Substantive ultra vires
	
	(

	Judicial review
	
	(

	Question Time
	(
	

	Scrutiny committee
	(
	


7
Possible reasons include: subject content; examples used, e.g. Access to Justice Act 1999; relevant examples used such as the Dog Fouling Act 1996 for bylaws; description of the three types of delegated legislation is detailed; no irrelevant information that would have wasted valuable exam time. (5 marks)
8
Possible ways to improve the answer include adding the following: briefly mentioning the parent Act; statutory instruments are mainly used to update the law; statutory instruments can be enforced through the courts; many bylaws are made under the Local Government Act 1972; the Privy Council has approximately 420 members — you could give details of the members. (3 marks)
Exam-style question

01
Delegated legislation is law made by bodies other than Parliament, but with the authority of Parliament. Members of Parliament are not experts in all fields so delegated legislation enables the details of legislation to be considered by other professionals within the field who are experts.

This is a good start. It identifies what is meant by delegated legislation and gives some good examples of relevant bodies that can create delegated legislation. This opening paragraph demonstrates a sound understanding.

The power to create law is laid down in an enabling Act (parent Act). An enabling Act lays down procedures for creating legislation as well as what can be contained in the piece of legislation. Delegated legislation is used for various reasons and is created by various people such as government ministers and even the queen.

Good knowledge of the enabling Act is shown, which a lot of students fail to mention when answering a delegated legislation question.

The Queen and Privy Council have the power to make laws that can affect the whole country under the Emergency Powers Act 1920. These are called Orders in Council. These are rarely used and are mainly considered in times of emergency when Parliament is not sitting. Examples of when orders in council have been created include the foot-and-mouth crisis. 

This is good because it states clearly when an Order in Council is used and a recent example is used to back up the point. This could have been improved by giving some indication of who is in the Privy Council. 

Ministers and government departments are given power to create laws on areas for which they are associated with such as agriculture or transport. Laws made by government ministers and their departments are called statutory instruments. The parent Act may require the statutory instrument to be laid before Parliament. This is the most used type of delegated legislation.

This shows a sound understanding of what a statutory instrument is. It is clear and concise with no waffle, which wastes precious time in the exam. Examples of recent statutory instruments could have been used to enhance the paragraph.

Local authorities can make laws relating to their own area; so Leicester County Council can make laws affecting Leicester as a whole, while Oadby Town Council can make laws that will only affect the town of Oadby. Such laws are known as bylaws. Examples of bylaws include regulations about parking and the pay and display noticeboards in car parks refer to local bylaws on parking.

Public corporations such as Rail Track have the power to make laws in their own jurisdiction, for example, a ban on smoking in the London Underground system. These laws are also called bylaws.

These last two paragraphs are good because they use examples, e.g. pay and display, and illustrate that the student understands that companies can also create delegated legislation.

This is a sound answer that would achieve 9 or 10 marks.

Topic 3 Statutory interpretation

1
Possible reasons include: words change their meaning over time; ambiguity; changes in the use of technology meaning the Act is outdated, e.g. Abortion Act 1967; unclear wording; poor drafting by the parliamentary draftsmen. (4 marks)

2
a
Oiling: London and North Eastern Railway v Berriman
b
Passenger: DPP v Cheeseman
c
Prostitutes: Smith v Hughes
d
Abortion: Royal College of Nursing v NHS
e
Dead elector: Whiteley v Chappell
f
Marry: Allen (6 marks)
3
a
Mischief

b
Prostitute

c
Purposive approach

d
Dead elector

e
Mischief rule

f
Hansard
g
Sigworth

h
Lord Esher

i
Preamble

j
Literal (10 marks)
4
Expressio unius est exclusio alterius (1 mark)
5
The mischief rule requires the court (1)
the wrong the Act (4)
In helping judges to discover Parliament’s intentions (8)
that the gap is covered. (7)
to take into account the gap in the law (2)
was intended to remedy. (5)
that the statute was intended to fill, (3)

The court should then interpret the Act in such a way (6)
the judge is able to use both intrinsic and extrinsic aids. (9) (8 marks)
6
The literal rule says the intention of Parliament is best found in the ordinary, natural meaning of the words used. If the words of the Act are clear, the court must follow them even though they lead to an absurdity. Under this rule the courts will give words their plain, literal and dictionary meaning even if they lead to an absurd result. (3 marks)
7
(8 marks)

	Literal rule
	Gives words their plain, literal and ordinary meaning
	Berriman



	Golden rule
	Modification of the literal rule; used where the literal rule leads to an absurd result
	Sigworth

	Purposive approach
	Looks to find the purpose of the law
	Royal College of Nursing v DHSS

	Mischief rule
	Allows judges to look back at the gap in the law
	Smith v Hughes


8
(9 marks)

	
	Advantage
	Disadvantage

	Literal rule

	Unjust outcomes and absurd results
	
	(

	The sovereignty of Parliament is respected
	(
	

	Sometimes English language is ambiguous and words can have more than one meaning
	
	(

	Unelected judges are prevented from making law
	(
	

	Draftsmen cannot always draft the law perfectly to take account of every situation
	
	(

	Promotes certainty
	(
	

	Golden rule

	It has been described as a feeble parachute by Michael Zander
	
	(

	Absurd results will be avoided
	(
	

	Used in limited circumstances
	
	(

	Who is to say what an absurd result is?
	
	(

	Judge may create an absurdity so that the golden rule can be used
	
	(


9
a
The literal rule has been used for many years, even if it has produced unjust and absurd outcomes, as in the case of Whiteley v Chappell. In this case a man cast a vote in the name of a dead elector, and was charged with ‘impersonating a person entitled to vote’. The court said since the dead man would not have been entitled to vote there was no offence. This was absurd. (3 marks)
b
The narrow approach to the golden rule was used in the case of Allen. Allen tried to argue that he could not be guilty of the offence of being married to two different women at the same time because it was impossible to commit that offence. Here the judge used the narrow approach of the golden rule and selected a meaning of marriage that allowed an absurd result to be avoided. (3 marks)
Exam-style questions

01
The literal rule has both advantages and disadvantages. No matter how absurd the outcomes of a case, it respects the right of Parliament to make any laws that it wishes and recognises that Parliament is the supreme law-making body. Judges who are unelected are prevented from making laws because they have to follow the wording of the Act as Parliament intended. Certainty is also promoted because it ensures that even people who have no legal knowledge can determine what the law should be as the words are followed literally.

This is a good start to this answer because it wastes little time and clearly shows that the student understands the advantages of the literal rule.

However, the literal rule fails to recognise that there can be ambiguity within the English language and that there can be different connotations for words that could result in absurdities. This can lead to potential loopholes that large companies use, as in the case of Berriman. Also, it is virtually impossible to create a statute that can be used to cover every possible situation. This can result in an Act of Parliament not having the outcome that was desired, as in the case of Whiteley v Chappell. Every piece of legislation is not perfectly drafted and some words will have different connotations. Unlike other rules of interpretation the literal rule cannot be adapted to take account that words may have different connotations.

This is a good way to answer a question such as this. Students tend to consider all the advantages that they can think of for all of the rules before moving on to the disadvantages for all of the rules. It is much better to consider the advantages of one rule and then move on to the disadvantages of that rule. This leads to a much clearer structure and the answer is less muddled. 

An advantage of the golden rule is that it can be used to avoid absurd results. However, a disadvantage to this is who decides what is an absurd result? What may be absurd to one judge perhaps will not be absurd to another. If the judge does not like the law then he/she may create an absurdity so that he/she can interpret an Act in his/her own way using the golden rule. Thus, this will lead to judicial law making. 

This is another way to answer such a question. You could mention an advantage and then look at the disadvantage of that same point, as the student has done here.

Professor Zander has described the golden rule as a feeble parachute — it can be used as an escape route from the problems of the literal rule but it is not of much use for anything else. The golden rule is only used in limited circumstances such as when the literal rule leads to an absurd result, e.g. Re Sigsworth. Therefore, it is not used as frequently as other rules of interpretation.
Out of the three rules, the mischief rule is widely considered to be the best. This is because it is said that the true intention of Parliament is considered when a judge utilises this rule. However, is there really such a thing as ‘the true intention of Parliament’? To determine this would require the use of a wide range of internal and external aids and presumptions. Because of the vagueness in this approach to interpreting legislation it can lead to dispute and tension between judges when trying to discover the true intention of Parliament. This leads to a much longer case and higher costs.

Here again the student is considering an advantage, e.g. the true intention of Parliament, and then moving on to explaining why that same point could also be a disadvantage, e.g. is there really such a thing as the true intention of Parliament?
Its main advantage is that it allows judges to look back at the gap in the law which the Act was designed to cover. It is also viewed by the Law Commission as the most satisfactory way of interpreting acts as opposed to the literal or golden rule. However, with the mischief rule there is the risk that judges will interpret the law how they wish and this will promote judicial law making, thus it could be said that it gives judges too much power. The mischief rule is seen to be out of date as it has been in use since the sixteenth century before the supremacy of Parliament to make laws was established.

This student has finished strongly by discussing a wide range of advantages before moving on to mentioning the disadvantages. This student is particularly strong as throughout the answer he/she uses joining words, such as ‘however’ and ‘furthermore’, to help the answer flow.

Overall, this is a sound answer that would receive at least 9 out of 10 marks.

02
It has been stated that when interpreting legislation judges use three main rules: the mischief rule, the golden rule and the literal rule.

This is a good introduction to the question that does not waste too much time and yet shows knowledge of the three rules of interpretation.

Under the literal rule it has been stated that using the plain, literal and ordinary meaning of the wording in the Act is the best way to show what Parliament intended. In R v Judge of the City of London Lord Esher said that if the words of the Act are clear, the court must follow them even though they lead to an absurdity. So, even if the literal and plain meaning of the words in the Act leads to an absurd outcome the courts will follow them.

On many occasions using the literal rule has resulted in bizarre outcomes that have made the law appear nonsensical. For example, consider the case of Whiteley v Chappell, where a man used the name of a deceased person to vote. He was charged with ‘impersonating a person entitled to vote’. He was found not guilty since applying the law strictly, a dead man cannot vote and so therefore was not entitled to vote. Thus, the defendant could not have impersonated a person entitled to vote. 
Similarly, in the case of London and North Eastern Railway v Berriman another harsh decision was reached using the literal rule. Here, a railway worker was killed while oiling some signalling equipment on the line. While working on the line it was a legal requirement to have a lookout posted when ‘relaying or repairing’. However, because Berriman was oiling and not relaying or repairing his widow could not claim compensation for his death.

This demonstrates a sound understanding of the literal rule. Good use is made of what Lord Esher said in R v Judge of the City of London and the definition given of the literal rule is very good, although a bit generic. Case law is used particularly well to illustrate how the literal rule has often led to absurd outcomes. What is most impressive is the clear and concise manner in which the cases are written about, demonstrating knowledge and how to apply that knowledge appropriately.

The mischief rule was created in the case of Heydon. The mischief rule requires the court to take into account the gap in the law that the statute was intended to fill — the wrong the act was intended to remedy. In helping judges to discover Parliament’s intentions the judge is able to use both intrinsic and extrinsic aids. 
The mischief rule was used in Smith v Hughes. This case revolved around prostitutes soliciting ‘in a street or public place’. The prostitutes were not in the street. They were residing behind windows and parading on the balcony in a private residence. If any of the other rules had been applied such as the literal rule or the golden rule then the prostitutes would have been found not guilty. But, the judge decided that the Act was supposed to prevent people being harassed by prostitutes, it didn’t matter that it was not in the street. In Royal College of Nursing v DHSS the mischief rule was adopted and the court held that the mischief Parliament was intending to remedy was the number of illegal abortions.

This again shows a sound understanding under timed conditions. Time is limited in the exam and it is important that key points such as a gap in the law and the wrong the Act was intended to remedy are included. Strong case application plus an understanding of how case outcomes would have differed if other rules of interpretation had been used have enhanced this answer further. 

This is a sound answer that would score 10 marks.

Topic 4 Judicial precedent

1
Law made by judges which has been brought about by court decisions. (1 mark)
2
‘To stand by things decided’. (1 mark)
3
Ratio decidendi is the reason for the decision — it is the binding part of the judgement. The obiter dicta is something said by the way — it is not binding but could be seen as persuasive. (3 marks)
4
The ratio decidendi. (1 mark)
5
It allows the House of Lords to depart from its previous decisions when ‘it appears right to do so’. Before the Practice Statement the House of Lords could not undo/overrule any of its previous decisions. (3 marks)
6
a
The facts of the case: the child had got through a gap in the fence near the railway line. The board, as occupiers, were aware of previous trespasses but had failed to maintain the integrity of the fence. The 6-year-old child received injuries. (1 mark)
b
The point of law: the occupier of land owes child trespassers a duty to protect them from injury.   (1 mark)
7
The House of Lords used the Practice Statement to overrule its decision in Rondel v Worsley (1967). The House of Lords held that lawyers should be sued if they performed negligently in court. (2 marks)
8
Common law (case law) is now more flexible and can adapt to keep up with changes in society. 
(2 marks)
9
The three circumstances are:

· where two previous Court of Appeal decisions conflict, the Court of Appeal can decide which to reject and which to follow

· where there is a conflicting House of Lords decision, the Court of Appeal must follow this and reject its past decision

· where the previous decision was made per incuriam — through a lack of care (3 marks)
10
Davis v Johnson (1978). (1 mark)
11
The court structure: Magistrates’ and County Court at the bottom; they both feed into the High Court, which then feeds into the Divisional Courts of the High Court; this then goes into the Court of Appeal (Civil Division); finally the Supreme Court and in some circumstances the European Court of Justice. (7 marks)

12
(7 marks)
	Court
	Which court(s) would it have to follow?

	European Court of Justice
	Binds lower courts on matters of European law

	Supreme Court
	Bound by the European Court of Justice (ECJ) — follows own decisions except when using the Practice Statement

	Court of Appeal (Civil Division)
	Bound by ECJ and Supreme Court — bound by its own decisions unless rules in Young v Bristol Aeroplane Co. apply

	Divisional Courts of the High Court
	Bound by ECJ, Supreme Court and the Court of Appeal

	High Court
	Bound by ECJ, Supreme Court, Court of Appeal and Divisional Courts

	County Court
	Bound by the ECJ, Supreme Court, Court of Appeal, Divisional Courts and the High Court

	Magistrates’ Court
	Bound by the EJC, Supreme Court, Court of Appeal, Divisional Courts and the High Court


13
Yes (1 mark)
14
When the facts of the case are similar to a previous case. (1 mark)
15
A superior court changes the outcome made by a lower court — it reverses the decision. (2 marks)
16
(4 marks)
	Methods of avoiding precedent
	Case example

	Distinguishing
	Donoghue v Stevenson (1932)

	Overruling
	Hedley Byrne v Heller and Partners (1964)

	Reversing
	Fitzpatrick v Sterling Housing Association Ltd (2000)

	Disapproval
	Anns v Merton London Borough Council (1978)


17
(12 marks)
	Word/statement
	Advantage or disadvantage?
	Reason

	Consistency
	Advantage
	Cases with similar facts are treated the same

	Rigidity
	Disadvantage
	Any unjust precedent could lead to further cases following the same precedent

	Volume
	Disadvantage
	Hundreds of judgements are made — it is difficult to find the relevant precedent

	Detailed practical rules
	Advantage
	Many law reports contain detailed information — this is a good guide for future cases

	Flexibility
	Advantage
	Judges can develop the law — making sure that they keep up to date with changes in society

	Predictability
	Advantage
	Solicitors and barristers can advise their clients — by looking at precedent they are able to predict the outcome to a degree


18
Possible reasons include:

· There are no examples, i.e. cases.

· The importance of a good court structure has not been stressed.

· There is no mention of the Practice Statement. (3 marks)
19
Introduce the definition of common law — law that has been made by judges from cases. The ‘ratio decidendi’ and ‘obiter dicta’ should be explained in full. Where do they come from? What are they? Judgements: ratio is the reason for the decision and is binding; the obiter is ‘things said by the way’ and is merely persuasive. The court structure should be explained clearly, showing that each court is generally bound by the court above it. The exceptions under the Practice Statement should also be explained. Include cases such as British Railways Board v Herrington (1972) and Hall v Simons (2000). (3 marks)
Exam-style question

01
Legal principles made by judges in higher courts set a precedent that must be followed by the lower courts. The principles that are followed are reported in law reports and judges will follow the ‘ratio decidendi’ — the reason for the decision. This doctrine comes with both advantages and disadvantages. It does provide consistency, as the court system allows for all judges to know which court they need to follow. If cases of similar facts are brought, then the outcome can be predicted. This promotes justice and equal treatment. Solicitors can advise their clients with confidence, and a degree of certainty knowing previous precedent must be followed. The ability for the judges to overrule any outdated precedent allows for flexibility and enables justice to be achieved. An example of this is in the case of R v R (1991) where Parliament amended the Sexual Offences Act 1956, stating that marital rape is a crime. Judges are able to create new precedent when there is no previous decision. In Gillick v West Norfolk and Wisbech Area Health Authority (1985) the House of Lords had to decide whether or not girls under the age of 16 could be prescribed the pill without parental consent.

The complexity of judgements often makes it difficult to determine what the ‘ratio’ of a case is — this could lead to uncertainty. Judges are able to avoid following precedents when distinguishing cases and some judges clearly distinguish more than others. Once the Supreme Court sets a judgement it cannot be overruled unless and until another case of similar facts is heard on appeal. This could lead to rigidity. The concept of precedent could be seen as unconstitutional as judges should not really be the ones who make the law — they should simply apply it. The ability for judges to create precedent could also be seen as undemocratic — as it should be the role of Parliament to create law based on the fact that the members have been democratically elected into their positions. The judges, of course, have not been elected and therefore should not be creating law. The precedents that judges apply are sometimes made very quickly, and are based on the arguments presented as opposed to research in a particular area. (10 marks)

The question requires you to identify both advantages and disadvantages. This answer clearly identifies both, giving equal weighting to each.  Both are backed up well using cases and examples. This is a good answer because not only has an advantage or disadvantage been identified, but each has been expanded on, clearly saying why.
This is a sound answer that would score 10 marks.

Section B The legal system

Topic 1 The civil courts and other forms of dispute resolution

 Civil courts

1
(5 marks)
	Number in hierarchy (1–5)
	Court

	1
	Magistrates’ Court

	5
	Supreme Court

	3
	High Court

	2
	County Court

	4
	Court of Appeal


2
(5 marks)
	Court of first instance
	County Court

Magistrates’ Court

High Court

	Appeal courts
	Magistrates (from local authority — licences)

High Court

Appeal Court

Supreme Court


3
Family matters (except divorce). Recovery of unpaid utilities — council tax, water, gas and electric. It can hear appeals from local authorities about the granting of licences for the selling of alcohol and gambling. (3 marks)
4
Contract cases, negligence cases (tort), bankruptcy, property and divorce cases. (4 marks)
5
(3 marks)
	Division of the High Court
	Types of cases

	Queen’s Bench Division
	Contract and tort cases

	Family Division
	Divorce, adoption and care proceedings, and other child-related and financial claims in relation to families

	Chancery Division
	Company law, partnership issues, wills and trusts, bankruptcy and the sale of land


6
(9 marks)
	Tracks
	Value of claim
	Courts
	Types of cases (with examples)

	Small claims
	Less than £5,000
	County Court
	Smaller cases — civil disputes — those that are less than £5,000, e.g. unpaid debts, smaller injury claims

	Fast track
	£5,000–£25,000
	County/High Court
	Civil disputes between £5,000 and £25,000

Unpaid debts (larger companies), injuries of a more serious nature etc. 

	Multi track
	£25,000+
	High Court
	Complicated points of law — high claim cases — cases of particular interest to the public


7
The Magistrates’ Court and County Court should appear at the bottom. These then both feed into the High Court. The High Court is split into three divisions, showing the Queen’s Bench, Family and Chancery as parts of the High Court. This then goes into the Supreme Court, with the European Court at the top. (7 marks)
8
Advantages: legal expertise and experience, remedies, funding.

Disadvantages: slow process, lack of flexibility in court process, need for lawyers, lack of technical knowledge, publicity. (8 marks)
9
Possible reasons include:

· The answer is too short.

· There is not enough detail.

· The High Court needs to be split into the Queen’s Bench, Family and Chancery Divisions.

· The question has not really been answered — what is the route of appeal?

· The answer lacks examples. (5 marks)
10
Explain the actual appeal system — where would you go to appeal and on what grounds? Make the difference between the High Court sections — and the routes for appeal from here — clear. Also mention the ‘Leap frog’ procedure — provided by the Administration of Justice Act 1969 — where a case can go straight from the High Court to the Supreme Court. Bring in case law to use as examples — Donoghue v Stevenson and British Railways Board v Herrington. (5 marks)
 Alternative dispute resolution

11
Negotiation, arbitration, mediation and conciliation. (4 marks)
12
The courts are expensive, slow and intimidating. (3 marks)
13
(7 marks)
	Key term
	Description

	Alternative dispute resolution (ADR)
	There are four ways of resolving disputes other than going to court

	Advisory, Conciliation and Arbitration Service (ACAS) 
	A government-funded service to help people resolve disputes  — commonly used in employment disputes

	Mediator


	This is an independent third party who will assist the parties resolve their dispute. They must not offer any suggestions to the parties involved

	Conciliator
	This is an independent third party who can suggest terms and conditions to help the parties reach an agreement

	Negotiation


	This an informal method of dispute resolution — and is normally the first step when a dispute arises between parties

	Parties
	The people who are in dispute — known as the claimant and the defendants

	Tribunal
	This is similar to court — it is a way to settle a dispute and is used in cases where the dispute is to do with employment, immigration, mental health etc.

	Arbitration


	This is where the parties use a third party to help them resolve a dispute. This form of ADR is governed by the Arbitration Acts of 1979 and 1996


14
(6 marks)
	Type of ADR
	How does this work?
	Examples of when this type is used

	Negotiation
	The parties concerned try to reach an agreement themselves
	A neighbour dispute — talk to each other to try to reach resolution

	Mediation
	The parties have an independent third party present during discussions. He/she assists the parties to resolve the dispute — the mediator must not act as an advisor
	Family situations — divorce, child custody, property etc.

	Conciliation
	An independent third party actively assists the parties in reaching an agreement by suggesting terms of settlement
	ACAS — in employment cases; Relate — in marriage cases


15
An arbitration agreement must be in writing and both parties must agree to arbitration. The hearing will be at a set place and time as agreed by all parties. The hearing is carried out in private. Each party will put forward their arguments and evidence — this can be done either in writing or in person. Witnesses can be called to give evidence — and, like in a court, can be cross-examined. The arbitrator can question the witnesses. At the end of this process the arbitrator will make the final decision — this is normally in writing. This is known as an award and is binding on both parties. The process is free but the arbitrator will charge a fee. The losing party does not have an automatic right to appeal against the decision made. However, if the party feels that the arbitrator did not carry out the hearing as agreed by the parties, an appeal case can be put to the High Court under s.68 of the Arbitration Act 1996. 
(5 marks)
16
A Scott v Avery clause is a condition included in a business contract requiring both parties to use arbitration should a dispute arise. Examples include: package holiday contract — ABTA (Association of British Travel Agents); mobile phone contract. (2 marks)
17
A court hearing (litigation) involves a formal court trial where a judge makes a decision, and a solicitor represents the parties. A tribunal is less formal and the parties are encouraged to represent themselves. (2 marks)
18
There are normally three members of the panel — a legally qualified chairperson and two lay people who have expertise in the field in which they are hearing. Employment tribunals consist of two lay people who have experience in industry. The parties take it in turn to put their evidence to the panel. They can bring witnesses, who can be questioned by the panel and the other party. The parties concerned are encouraged to represent themselves or can be represented by a friend or member of their family. Tribunals are not bound by the strict rules of evidence that apply in civil courts and are much less formal. Once both parties have put their case the panel will reach a decision — this is normally put in writing and received through the post. Most decisions can be appealed against and the appeal route will depend on the type of tribunal heard. (5 marks)

Exam-style questions
01
(10 marks)

	Type
	Advantages
	Disadvantages

	Tribunals
	Expertise, reasons given for decisions, cost, informal proceedings, speed, flexibility, privacy
	Influence by chairman, lack of public funding, appeals procedure complicated, inconsistent decisions, publicity

	Arbitration
	Expertise, privacy, convenient, informal, speed, cost
	Lack of legal expertise, inconsistent decisions, cost, limited grounds of appeal

	Mediation
	Speed, convenient, cost, expertise, privacy
	Lack of legal expertise, lack of certainty, cannot be enforced

	Conciliation
	Involvement of conciliator, expertise
	Conciliator not neutral, not enforceable

	Negotiation
	Formal, speed, cost, privacy
	Not enforceable, no legal expertise


02
Alternative dispute resolution is an alternative to going to court. Courts prefer people to have tried at least one form of ADR before commencing a court hearing. This is simply where the claimant and defendant try to reach a compromise without the need of formal proceedings. It is a cheaper way to reach an agreement and can take the pressure off the parties concerned.

Negotiation is a form of ADR and is always the starting point to any civil case. This is where the parties concerned try to reach an amicable agreement. This can be carried out verbally between the two parties or can be in writing. An example of this form of ADR could be when neighbours have a dispute — one may be playing loud music at very unsociable hours. The claimant may first try to negotiate — talk to the neighbour and try to reach an agreement amicably. If this is not successful then the claimant may wish to apply for further assistance from the County Court. Negotiation can also be carried out for the claimant by a solicitor in the form of letters. It is not binding on the parties concerned.

Another form of ADR is mediation. This is very popular with family situations. Mediation involves the parties concerned entering discussions with a third party — a mediator. This is an independent person who is able to help the parties reach an agreement by assisting with the negotiations. A mediator is not able to give advice or make suggestions but is there to make sure the parties remain amicable. In a family situation a mediator may be used when deciding custody over children and visiting rights — the mediator could be a member of the counselling service Relate. Mediation is not binding and any agreement cannot be upheld in a court of law. (10 marks)
This is a good answer. It explains clearly two different types of dispute resolution — negotiation and mediation. It differentiates between the two and gives good examples, which certainly enhance the answer.
This is a sound answer that would score 9 marks.
Topic 2 The criminal courts and 
lay people

 Criminal courts

1
(6 marks)
	Offence
	Summary
	Triable either way
	Indictable

	Battery
	(
	
	

	Wounding
	
	
	(

	Grievous bodily harm (s.18)
	
	
	(

	Assault
	(
	
	

	Actual bodily harm (s.47)
	
	(
	

	Theft
	
	(
	


2
Indictable offence. (1 mark)
3
Summary offence. (1 mark)
4
Bail. (1 mark)
5
Plea before venue hearing. (1 mark)
6
a
Indictable offence: the most serious offences, including murder and rape. (1 mark)
b
Crown Court: place where all indictable offences go, and a judge and jury will hear the case.
(1 mark)
c
Preliminary hearing: hearing that takes place at the Magistrates’ Court to determine bail. (1 mark)
d
Conditional bail: bail granted with conditions such as surrendering passport. (1 mark)
e
Juries: lay people who sit in the Crown Court and give a verdict of guilty or not guilty. (1 mark)
 Lay people

7
Roles include: trying all summary offences; trained and experienced magistrates can sit in the Youth Court; experienced magistrates can act as mentors; sitting in pairs in the Crown Court to hear appeals with a judge. (2 marks)
8
1974 (1 mark)
9
Magistrates’ National Training Initiative (1 mark)
10
Jury foreman (1 mark)
11
Court usher (1 mark)
12
Traffic warden, police officer, member of armed forces (2 marks)
13
Lord Chancellor (1 mark)
14
Winger (1 mark)
15
Disadvantages include: training is not rigorous enough; there are inconsistencies in sentencing; some benches are not a true cross-section of people; many magistrates are middle-aged and middle-minded. (3 marks)
16
Other roles include: deliberating; asking questions; listening to relevant points of law; must be independent of a judge. (2 marks)
17
a
Judges

b
Life sentence

c
Summary offence

d
Judge

e
Magistrate

f
Judge
g
Lay people

h
Remand in custody

i
Trial by peers
j
Jury
(10 marks)
18
(10 marks)
	
	True
	False

	The year of the Juries Act is 1976.
	
	(

	To qualify as a magistrate you have to be over the age of 21.
	
	(

	Magistrates cannot impose a sentence of more than 6 months in prison for a single offence.
	(
	

	A magistrate has the power to issue a search warrant. 
	(
	

	Magistrates can sit in the Youth Court to deal with young people accused of crime if they have special training.
	(
	

	Jurors are selected at random from the electoral register.
	(
	

	People who have been imprisoned for life and those who have had a term of imprisonment of 5 years or more are disqualified from jury duty for life.
	(
	

	A jury member can be challenged to the array, which means that the jury has been selected in an unrepresentative way or it is a bias jury.
	(
	

	Certain professional people, e.g. barristers, judges and doctors, had the right to be excused prior to the Criminal Justice Act 2003.
	(
	

	A person can defer jury duty because of a discretionary excusal. This can include things such as: the person has an exam on the court date or they are pregnant and about to give birth.
	(
	


19
In addition to this, magistrates are arguably representative of the community in that they come from the surrounding area (it used to be 15 miles of the commission area) and so therefore have knowledge of the area. So magistrates can gauge local problems, since they have to reside near the commission area, hence if there is a problem with graffiti they can treat vandals more harshly to overcome the problem. However, although they may come from the surrounding area they may not have experience of some of the more crime-ridden areas, and because the majority of magistrates are from professional and managerial backgrounds it is unlikely that they have entered the more deprived areas. (8 marks)
Exam-style questions

01
All cases start at the Magistrates’ Court. They are split into three types: summary, triable either way and indictable. The Magistrates’ Court will try all summary offences and any triable either way offence when it is decided that the case should be tried here. Magistrates have the power to sentence up to a year in prison and a £5,000 fine.
With triable either way offences there is a plea before venue hearing. This means that the Magistrates’ Court could hear the case if the defendant pleads guilty or it may decide to transfer the case to the Crown Court. If the defendant pleads not guilty then he/she can opt to either stay at the Magistrates’ Court or go to the Crown Court for a trial by judge and jury. The Magistrates’ Court will conduct committal proceedings for triable either way cases that are going to be sent to the Crown Court (to see if there is enough evidence to go to the Crown Court).

This is a good start. The student is showing the examiner that he has knowledge of the types of offences. He has also briefly described what happens with each offence but not in too much detail so as not to waste precious exam time.

Because of the severity of the incident involving Marek he will be charged with an indictable offence. Indictable offences all start at the Magistrates’ Court with a first administrative hearing. The case is then transferred to the Crown Court. A plea and directions hearing will then be held at the Crown Court to establish if the plea is guilty or not guilty. If Marek pleads not guilty then there will be a trial before a judge and jury. However, if Marek pleads guilty then a judge will decide his sentence.

At this point Marek may be given bail under s.4 of the Bail Act 1976. However, Marek may be refused bail and remanded in custody because of the nature and seriousness of the offence. It also depends on whether the courts feel there are grounds for believing that Marek may fail to surrender to custody or commit an offence while out on bail.
The remainder of this answer shows clearly that the student can apply his knowledge to the examination scenario. He has demonstrated a sound understanding of what will happen with Marek and used key specification terms such as plea and directions hearing. This answer could maybe be improved by explaining what happens at the administrative hearing.
This answer would score 7 marks out of 8.
02


	Magistrates
	Advantage
	Disadvantage

	Lack legal qualifications
	
	(

	Have an understanding of the local area
	(
	

	Are assisted by a legal advisor on complex matters
	(
	

	Are relatively cheap
	(
	

	40% of magistrates are retired people
	
	(

	Middle-aged and middle-minded
	
	(

	Training is not rigorous enough
	
	(

	Inconsistencies in sentencing
	
	(

	Deal with approximately 1 million cases a year
	(
	

	Are too willing to believe the prosecution
	
	(

	Ethnic minorities are still underrepresented
	
	(


There are many advantages and disadvantages of using magistrates. The first advantage is their long history in the English legal system. There has been a lay element in the English system since the eleventh century and it is seen as a fundamental preservation of justice and the theory that one is being tried by one’s peers.

Moreover magistrates are relatively cheap, for instance they are not salaried and usually cost around just £500 p.a. by virtue of travelling expenses. Therefore they provide great value considering they deal with approximately 1,000,000 cases every year. This also saves on the costs of having a judge and jury trial at the Crown Court.

Furthermore, the training initiatives such as the Magistrates’ National Training Initiative (MNTI) and the new training initiatives (MNTI2) are seen as improving vastly the skills and abilities of the magistracy. The MNTI2, which was set up by the judicial studies board, means that magistrates now have to have achieved three competencies in judicial decision making, managing conduct in court and working as a member of a team. If they do not meet these three competencies then extra training could be given or they could be removed from the magistracy.

In addition to this, magistrates are arguably representative of the community in that they come from the surrounding area (it used to be 15 miles of the commission area) and so therefore have knowledge of the area. So magistrates can gauge local problems, since they have to reside near the commission area, hence if there is a problem with graffiti they can treat vandals more harshly to overcome the problem. However, although they may come from the surrounding area they may not have experience of some of the more crime-ridden areas, and because the majority of magistrates are from professional and managerial backgrounds it is unlikely that they have entered the more deprived areas.
This is a strong start and it is evident that this student has a firm grasp of both the advantages and disadvantages of using magistrates in the legal system. She is particularly good at using development phrases that enhance an answer, such as ‘in addition’ and ‘furthermore’. Using terms such as these helps to build a sound answer rather than simply putting ‘another advantage is…and another advantage is…’. Try not to use words such as ‘another’ or ‘also’ too much.

Despite this, a defendant may be able to respect a magistrate more since they are more accessible, whereas the perceived image of judges being upper-middle-class may mean that the defendant does not feel as if the judge can sympathise with his or her plight. The fact that magistrates are made up of a cross-section of local people is also said to be an advantage because the bench is representative of society with various genders, ethnic minorities and occupations. But this is not always the case and in fact some benches are not a true cross-section of the local area. This is because 40% of magistrates are retired people and despite the improving ethnic balance it is still not proportional. Lay magistrates still tend to be middle-aged and middle-minded and so not a true cross-section of the local community, and will have little in common with young working-class defendants.
The appeal rate for magistrates is also very low, which is argued to be a distinct advantage. Most appeals are against the sentence rather than the finding of guilt, illustrating that magistrates do a good job in assessing the guilt of individuals.

Conversely, there are arguments against the use of magistrates, for instance they are slow and said to have too much reliance on the magistrate’s clerk. Despite being aided by a clerk the magistrates are not allowed to take advice on sentencing from the clerk. In R v Eccles the clerk advised the magistrate on what sentence should be given and the conviction was quashed. Because magistrates are not allowed to take advice on sentencing from the clerk this does not help to prevent inconsistencies in sentencing between Magistrates’ Courts for similar offences, e.g. for burglary nationwide 66% are sentenced to immediate custody but in Birmingham it is only 41%.

The student has made excellent use of statistics to back up her answer. This shows additional understanding. She has also made good use of case law to enhance the point that she made.

Furthermore it could be argued that the training for magistrates is not rigorous enough and this is evident in the inconsistencies that can be seen when magistrates sentence. It has been argued that magistrates are too willing to believe the prosecution and they develop a close relationship with the police. Magistrates can also become case-hardened and therefore do not have an open mind. Moreover, are magistrates truly representative? Politically conservative professional bodies mainly become magistrates and there is still an underrepresentation of ethnic minorities. (10 marks)
Overall, this is a good answer that would receive 9 marks out of 10.
Topic 3 The legal profession and other sources of advice and funding

1
1990 (1 mark)
2
Access was widened so that certain professions could access the Bar directly. (1 mark)
3
Gray’s Inn, Lincoln’s Inn, Middle Temple and Inner Temple (4 marks)
4
1 year (1 mark)
5
Graduate Diploma in Law — graduates whose degree is not in law must complete this. (2 marks)
6
(5 marks)
	Key term
	Definition

	Barrister
	One branch of professional lawyers whose main work is to give specialist legal advice and represent people in court

	Queen’s Council
	A barrister of at least 10 years’ standing — appointed to a senior rank 

	Pupillage
	Vocational training for a prospective barrister after completing and passing the Bar Vocational Course (BVC)

	Barrister’s clerk
	The person responsible for running the barrister’s chambers

	Bar Council
	Governing body for barristers


7
A barrister must accept the brief (case) he/she is given — based on the skills and time the barrister has to complete it he/she must offer a reasonable rate. (1 mark)

8
Barristers can be sued for poor work — before Simons’ barristers had immunity from liability. (1 mark)
9
It is a body to which clients can complain if they are unhappy with the investigation of their complaint. (2 marks)

10
First outline the ‘academic’ stage.
Prospective barristers must have the minimum educational requirements. They must have a good set of A-levels and a degree. The quickest route to qualifying is to take a qualifying law degree — this is a 3-year course and will contain all the qualifying requirements as set out by the Bar Council. A student who does not have a qualifying law degree can still progress by completing a 1-year conversion degree — known as a Graduate Diploma in Law (GDL).
Move on to the second stage — professional training.
Before starting the vocational stage a prospective barrister must join one of the four Inns of Court. These provide support for barristers and student barristers. The Inns have the power to call the student to the bar, and admission to an Inn is required before you register for the Bar Vocational Course (BVC). The course allows students to acquire the skills needed for advocacy work. The knowledge and procedure of court etiquette and the law of evidence are covered during the course. This course runs for 1 year full time or 2 years part time.

Finally — the third stage — the pupillage.
This is where practical training is undertaken. The pupillage is split into two lots of 6 months with the first spent shadowing a barrister. The second 6 months can be spent carrying out advocacy work — with their supervisor’s permission. This will enable the student to earn a small amount of money. There is fierce competition for pupillage places and it is advisable for prospective students to carry out a mini pupillage first — this is a short period of work experience that can be carried out during the last year of their university course. (10 marks)

11
Legal Practice Course. (1 mark)
12
(6 marks)
	
	Type of work undertaken

	High-street solicitor firm
	Specialist work, including: buying and selling property, personal injury claims, advising on matrimonial problems, financial disputes between partners, immigration, issues with wills and probate and contract issues. They will also represent clients in lower courts or direct a barrister

	Commercial solicitors
	Solicitors who work directly for large businesses — banks and multinational companies. They focus mainly on company/employment law. They draw up contracts, deal with employment issues, make civil claims against other companies etc. They will represent the company/bank in disputes in court


13
(6 marks)
	Stage
	Explain what is involved and how long it takes

	1 Academic
	Starting with A-levels — 2 years in sixth form or college. These must be good grades in order to obtain a place at university

Law degree (3 years) or other degree with GDL (4 years)

	2 Vocational
	Legal Practice Course (LPC) — 1 year

Provides professional training — with some compulsory elements including: law and practice, business and accounts, professional conduct etc. There are also some elective topics including legal research, advocacy, interviewing, and writing and drafting documents 

	3 Training
	2 years of practice-based training in a law firm. The trainee will gain experience working alongside a qualified solicitor. They will experience at least three different areas of law. The trainee’s work will be regularly reviewed. On completion of this training, the trainee will be admitted as a solicitor and will get his/her practising certificate


14
(6 marks)
	Profession
	Key differences

	Solicitor
	1 Governed by the Law Society

2 Have to complete law degree and training before earning

3 Will have supervision for 2 years on a training contract

4 Can specialise in several areas

5 Have right of advocacy in all lower courts

	Legal executive
	1 Governed by ILEX

2 Can learn while you earn

3 Must work under supervision for at least 5 years

4 Normally will specialise in one area of law

5 Right to appear in court is limited


15
The Legal Services Commission administers public funding of legal matters or legal aid. The Community Legal Service administers civil legal aid. (3 marks)
16
a
False

b
True 

c
False

d
True

e
True (5 marks)
17
An agreement between a client and solicitor in which the client pays less if the case is unsuccessful — but will pay a full fee if the case is successful. (3 marks)
18
General advice and assistance, police station advice and assistance, advocacy assistance and representation in court. (3 marks)
19
(6 marks)
	Other sources of legal advice

	1 Citizens Advice Bureau — provides legal advice to people with debt, welfare benefits, housing, employment and immigration issues

	2 Law centres — found in poorer areas of the country, they offer free advice to those in need. Normally run by qualified solicitors, they will take up cases where legal aid is not always available

	3 Legal advice can also be sought from insurance companies, banks, trade unions and motoring organisations


Exam-style question

01
Parmveer has committed a criminal offence and would need to seek advice. He can go and seek advice from a private solicitor, but this will incur expense if the solicitor does not have a contract with the Criminal Defence Service. The Criminal Defence Service will be able to offer him free legal advice at the police station and will be able to assist him before he is charged. This advice will be given by a duty solicitor in the Magistrates’ Court. Parmveer will be given a leaflet when he is arrested, explaining how to get legal help.

Everyone who is charged with a criminal offence has the right, if they have not sufficient means to pay for legal assistance, to be given it free when the interests of justice so require — article 6 of the European Convention on Human Rights. If Parmveer was to go to the Crown Court he would need a representation order — here an interests of justice test must be fulfilled. (10 marks)

The answer takes the client through the stages of the funding that is needed — and explains clearly what is available for the client in his situation. Weaker answers might only say what advice is available, listing the different types — this is a good answer as the client’s situation is well applied.
This is a sound answer that would score 9 or 10 marks.
Topic 4 The judiciary

1
Lord Chief Justice. (1 mark)
2
It can be argued that judges do make law — through the interpretation of statutes and also through the doctrine of judicial precedent. (1 mark)
3
Civil: to listen to the case and to give a decision, also to give a remedy.

Criminal: to explain the relevant law to the jury and to pass sentence when a guilty verdict is reached. (4 marks)
4
Superior: judges appointed to sit in the High Court and the appeal courts.

Inferior: all judges who are not superior. (2 marks)
5
(6 marks)
	Type of judge
	Qualification

	Law Lord
	15-year Supreme Court qualification or hold existing judicial office

	Lord Justice of Appeal
	10-year High Court qualification or be an existing High Court judge

	High Court judge
	10-year High Court qualification or be an existing circuit judge

	Circuit judge
	10-year Crown Court or County Court qualification or be a recorder or district judge for 3 years

	Recorder
	10-year general qualification

	District judge
	7-year general qualification


6
Judicial Appointments Commission. (1 mark)
7
Advertisement: most positions are advertised in the national press and the legal press. 

Application form: this is completed and sent to the Judicial Appointment Commission. It is then checked to determine the candidate’s eligibility for the position.

Selection day/panel interview: this will be a combination of role plays and an interview.

Statutory consultation: this is required by the Constitutional Reform Act 2005. The panel’s reports on candidates are sent to the Lord Chief Justice and another person with experience. The commissioners consider all the information and select candidates to be recommended to the Lord Chancellor for appointment.

Final checks: for existing judges — making sure that there are no complaints outstanding against the candidates. For new candidates, a series of good character checks are done with the police, revenue and customs. The candidate may also have to undergo a medical. (10 marks)
8
Salary, pension scheme, to put something back into the system, personal prestige. (3 marks)
9
Yes — by the Lord Chancellor, for personal conduct. (2 marks)
10
The Act of Settlement 1700 grants judges security of tenure and means that only the monarch can dismiss them after a petition from both Houses of Parliament. (2 marks)
11
In order to ensure a fair trial, judges must make decisions based on law rather than pressure from other sources. In order to ensure the right to a fair and public hearing, three basic principles are needed.

Security of tenure means that a full-time judge has the right to remain in office until retirement. The Office for Judicial Complaints cannot deal with any complaint about a judge’s decision.

Judges also have immunity from suit — they are protected from being taken to court.

The judiciary must be separate from other bodies. This is known as the separation of powers. There are three powers in a state: legislative, executive and judicial. All three should be separate and independent from each other — this allows one to check on the other two. The doctrine of separation of powers was introduced by a French political thinker, Montesquieu. (10 marks)
Exam-style question

01
Judges are not a true reflection of society. A number of reports have confirmed that there are some clear criticisms made of both the selection and the appointment of judges. The majority of judges are white, male and middle class, and many are old. It has been suggested that the old appointments system and the ‘old boys’ network’ has contributed to this. Only those from the right background become successful. Legal education is expensive and it clearly restricts the ability of the less affluent to afford it.

After 2006 the Judicial Appointments Commission took over the selection of candidates and this is clearly trying to make the judiciary more representative. The ethnic background of judges does not reflect the ethnic balance of people in England and Wales. The Labour Research Department produced a report in 2002 that found the average age of judges was over 60 and that two thirds of them had been to public school; 60% of those had attended Oxford or Cambridge. It would be fair to say that the higher the rank of the judge the more likely they are to have attended Oxford or Cambridge.

There is a clear lack of women judges, especially in the higher courts. As at 1 April 2007 there had only been one woman who had held the position of Lord of Appeal in Ordinary, and only 10 women High Court judges compared to 97 men. The lower down the court system, the greater the percentage of women, especially in the family courts, with 40% of district judges (including Family Division) being women.

The fact also remains that many judges were barristers. Few solicitors go on to become judges. In statistics published on 1 April 2007 the split was roughly 90% being barristers and only 10% solicitors.

There is a clear imbalance on a number of counts with the selection of judges. The move to appoint from the Judicial Appointments Commission should see an improvement in fairness of selection. (10 marks)

This is an evaluative question asking students to comment on the problems with methods used in the selection and appointment of judges — it requires more than simply listing how judges are selected. It is therefore important to include evaluation, giving clear facts and figures showing that although problems have arisen in the past, there has been a clear move towards improving the selection process. Weaker answers simply list the problems, giving no evaluative content.
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